Rev. Real Academia de Ciencias. Zaragoza. 68: 73-81, (2013).

# Unified Theory of Obtaining a novel Class of Mixed Trilateral Generating Relations of Certain Special Functions by Group Theoretic Method 

K.P. Samanta and A.K. Chongdar Department of Mathematics<br>Bengal Engineering and Science University, Shibpur<br>P.O. Botanic Garden, Howrah - 711 103, India


#### Abstract

In this paper, we have presented a unified theory of obtaining a novel class of mixed trilateral generating relations involving certain special functions by group theoretic method. A good number of theorems in connection with mixed trilateral generating relations involving certain special functions are obtained in course of application of our result.

Key words: Mixed trilateral generating functions, Gegenbauer polynomials, Hypergeomtric polynomials, Biorthogonal polynomials, Laguerre polynomials. AMS-2010 Subject Classification Code : 33C45, 33C47, 33C65.


## 1 Introduction

Unified theory of bilateral or trilateral generating relations for various special functions are of greater importance in the study of special functions. In this direction several attempts have been made by some researchers [1-15].

In this present article, we have discussed a group theoretic method for deriving a unified presentation of a novel class of mixed trilateral generating relations for certain special functions subject to the condition of construction of one parameter continuous transformations group for the special function under consideration. Furthermore, we would like to mention that a good number of theorems on mixed trilateral generating relations for various special functions can be easily obtained in course of application of our result (Theorem 1). In fact the main result of our investigation is given in section 2(Theorem 1).

## 2 Group-Theoretic Discussion

We first consider a bilateral generating relation involving a particular special function $p_{n}^{(\alpha+n)}(x)$ of degree $n$ and of parameter $(\alpha+n)$ as follows:

$$
\begin{equation*}
G(x, u, w)=\sum_{n=0}^{\infty} a_{n} p_{n}^{(\alpha+n)}(x) g_{n}(u) w^{n} \tag{1}
\end{equation*}
$$

where $g_{n}(u)$ is an arbitrary polynomial of degree $n$ and $a_{n}$ is independent of $x, u, w$. Replacing $w$ by $w v z$ and then multiplying both sides of (2.1) by $y^{\alpha}$, we get

$$
\begin{equation*}
y^{\alpha} G(x, u, w v z)=\sum_{n=0}^{\infty} a_{n}\left(p_{n}^{(\alpha+n)}(x) y^{\alpha} z^{n}\right) g_{n}(u)(w v)^{n} . \tag{2}
\end{equation*}
$$

We now suppose that for the above special function $p_{n}^{(\alpha+n)}(x)$, it is possible to define a linear partial differential operator $R$, which generates one parameter continuous transformations group as follows:

$$
\begin{equation*}
R=A_{1}(x, y, z) \frac{\partial}{\partial x}+A_{2}(x, y, z) \frac{\partial}{\partial y}+A_{3}(x, y, z) \frac{\partial}{\partial z}+A_{0}(x, y, z) \tag{3}
\end{equation*}
$$

such that

$$
\begin{equation*}
R\left(p_{n}^{(\alpha+n)}(x) y^{\alpha} z^{n}\right)=\rho_{n} p_{n+1}^{(\alpha-1)(n+1)}(x) y^{\alpha-1} z^{n+1} \tag{4}
\end{equation*}
$$

where $\rho_{n}$ is function of $n, \alpha$ and independent of $x, y$ and

$$
\begin{equation*}
e^{w R} f(x, y, z)=\Omega(x, y, z, w) f(g(x, y, z, w), h(x, y, z, w), k(x, y, z, w)) \tag{5}
\end{equation*}
$$

Operating both sides of (2.2) by $e^{w R}$, we get

$$
\begin{equation*}
e^{w R}\left(y^{\alpha} G(x, u, w v z)\right)=e^{w R}\left(\sum_{n=0}^{\infty} a_{n}\left(p_{n}^{(\alpha+n)}(x) y^{\alpha} z^{n}\right) g_{n}(u)(w v)^{n}\right) \tag{6}
\end{equation*}
$$

Now the left number of (2.6), with the help of (2.5), becomes

$$
\begin{equation*}
\Omega(x, y, z, w)(h(x, y, z, w))^{\alpha} G(g(x, y, z, w), u, v w k(x, y, z, w)) . \tag{7}
\end{equation*}
$$

The right number of (2.6), with the help of (2.4), becomes

$$
\begin{equation*}
\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} a_{n} \frac{w^{m}}{m!} \rho_{n} \rho_{n+1} \ldots \rho_{n+m-1} p_{n+m}^{(\alpha+n)}(x) y^{\alpha-m} z^{n+m} g_{n}(u)(w v)^{n} \tag{8}
\end{equation*}
$$

Now equating (2.7) and (2.8) and then putting $y=z=1$, we get

$$
\begin{aligned}
& \Omega(x, 1,1, w)(h(x, 1,1, w))^{\alpha} G(g(x, 1,1, w), u, v w k(x, 1,1, w)) \\
& =\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} a_{n} \frac{w^{m}}{m!} \rho_{n} \rho_{n+1} \ldots \rho_{n+m-1} p_{n}^{(\alpha+n-m)}(x) g_{n}(u)(w v)^{n} \\
& =\sum_{n=0}^{\infty} \sum_{m=0}^{n} a_{n-m} \frac{w^{n}}{m!} \rho_{n-m} \rho_{n-m+1} \ldots \rho_{n-1} p_{n}^{(\alpha+n-m)}(x) g_{n-m}(u) v^{n-m} \\
& =\sum_{n=0}^{\infty} w^{n} \sigma_{n}(x, u, v),
\end{aligned}
$$

where

$$
\sigma_{n}(x, u, v)=\sum_{m=0}^{n} \frac{a_{m}}{(n-m)!} \prod_{i=m}^{n-1} \rho_{i} p_{n}^{(\alpha+m)}(x) g_{m}(u) v^{m}
$$

Thus we arrive at the following theorem.

Theorem 1: If

$$
G(x, u, w)=\sum_{n=0}^{\infty} a_{n} p_{n}^{(\alpha+n)}(x) g_{n}(u) w^{n}
$$

then

$$
\Omega(x, 1,1, w)(h(x, 1,1, w))^{\alpha} G(g(x, 1,1, w), u, v w k(x, 1,1, w))=\sum_{n=0}^{\infty} w^{n} \sigma_{n}(x, u, v)
$$

where

$$
\sigma_{n}(x, u, v)=\sum_{m=0}^{n} \frac{a_{m}}{(n-m)!} \prod_{i=m}^{n-1} \rho_{i} p_{n}^{(\alpha+m)}(x) g_{m}(u) v^{m} .
$$

## 3 Applications

We now proceed to give a good number of applications of our result stated in Theorem 1.

### 3.1 Application-1

At first we take

$$
p_{n}^{(\alpha+n)}(x)=f_{n}^{(\beta+n)}(x) \text { with } \alpha=\beta .
$$

We now consider the following partial differential operator $R$ :

$$
R=x y^{-1} z \frac{\partial}{\partial x}-z \frac{\partial}{\partial y}-2 z^{2} y^{-1} \frac{\partial}{\partial z}-x y^{-1} z
$$

such that

$$
\begin{equation*}
R\left(f_{n}^{(\beta+n)}(x) y^{\beta} z^{n}\right)=-(n+1) f_{n+1}^{(\beta+n)}(x) y^{\beta-1} z^{n+1} \tag{9}
\end{equation*}
$$

and

$$
\begin{equation*}
e^{w R} f(x, y, z)=\exp \left(-w x y^{-1} z\right) f\left(x\left(1+w y^{-1} z\right), \frac{y}{\left(1+w y^{-1} z\right)}, \frac{z}{\left(1+w y^{-1} z\right)^{2}}\right) \tag{10}
\end{equation*}
$$

Comparing (2.4), (2.5) with (3.1), (3.2), we get

$$
\begin{gathered}
\rho_{n}=-(n+1), \Omega(x, y, z, w)=\exp \left(-w x y^{-1} z\right), g(x, y, z, w)=x\left(1+w y^{-1} z\right), \\
h(x, y, z, w)=\frac{y}{\left(1+w y^{-1} z\right)}, \quad k(x, y, z, w)=\frac{z}{\left(1+w y^{-1} z\right)^{2}} .
\end{gathered}
$$

So by the application of our Theorem 1, we get the following theorem on bilateral generating relations involving modified Laguerre polynomials.

Theorem 2: If

$$
\begin{equation*}
G(x, u, w)=\sum_{n=0}^{\infty} a_{n} f_{n}^{(\beta+n)}(x) g_{n}(u) w^{n} \tag{11}
\end{equation*}
$$

then

$$
\begin{equation*}
\exp (w x)(1-w)^{\beta} G\left(x(1-w), u, v w(1-w)^{-2}\right)=\sum_{n=0}^{\infty} w^{n} \sigma_{n}(x, u, v) \tag{12}
\end{equation*}
$$

where

$$
\sigma_{n}(x, u, v)=\sum_{m=0}^{n} a_{m}\binom{n}{m} f_{n}^{(\beta+m)}(x) g_{m}(u) v^{m} .
$$

### 3.2 Application-2

Now let us take

$$
p_{n}^{(\alpha+n)}(x)=L_{a, b,(m+n), n}(x) \text { with } \alpha=m .
$$

Then we consider the following partial differential operator $R$, where

$$
R=b x y^{-1} z \frac{\partial}{\partial x}+b z \frac{\partial}{\partial y}+2 b y^{-1} z^{2} \frac{\partial}{\partial z}-a x y^{-1} z
$$

such that

$$
\begin{equation*}
R\left(L_{a, b,(m+n), n}(x) y^{m} z^{n}\right)=(n+1) L_{a, b,(m+n), n+1}(x) y^{m-1} z^{n+1} \tag{13}
\end{equation*}
$$

and
$e^{w R} f(x, y, z)=\exp \left(\frac{-a w x y^{-1} z}{1-b w y^{-1} z}\right) f\left(x\left(1-b w y^{-1} z\right)^{-1}, y\left(1-b w y^{-1} z\right)^{-1}, z\left(1-b w y^{-1} z\right)^{-2}\right)$.
Comparing (2.4), (2.5) with (3.5), (3.6), we get

$$
\begin{gathered}
\rho_{n}=(n+1), \Omega(x, y, z, w)=\exp \left(\frac{-a w x y^{-1} z}{1-b w y^{-1} z}\right), g(x, y, z, w)=x\left(1-b w y^{-1} z\right)^{-1} \\
h(x, y, z, w)=y\left(1-b w y^{-1} z\right)^{-1}, \quad k(x, y, z, w)=z\left(1-b w y^{-1} z\right)^{-2}
\end{gathered}
$$

So by the application of our Theorem 1, we get the following result on bilateral generating relations involving modified Laguerre polynomials.

Theorem 3: If

$$
\begin{equation*}
G(x, u, w)=\sum_{n=0}^{\infty} a_{n} L_{a, b,(m+n), n}(x) g_{n}(u) w^{n} \tag{15}
\end{equation*}
$$

then

$$
\begin{equation*}
\exp \left(\frac{-a w x}{1-b w}\right)(1-b w)^{-m} G\left(x(1-b w)^{-1}, u, v w(1-b w)^{-2}\right)=\sum_{n=0}^{\infty} w^{n} \sigma_{n}(x, u, v) \tag{16}
\end{equation*}
$$

where

$$
\sigma_{n}(x, u, v)=\sum_{p=0}^{n} a_{p}\binom{n}{p} L_{a, b,(m+p), n}(x) g_{p}(u) v^{p} .
$$

Corollary 1: On specializing the parameters as $a=b=1$ and $m=1+\alpha$ in Theorem 3 we get the following result on modified Laguerre polynomials.

Theorem 4: If

$$
\begin{equation*}
G(x, u, w)=\sum_{n=0}^{\infty} a_{n} L_{n}^{(\alpha+n)}(x) g_{n}(u) w^{n} \tag{17}
\end{equation*}
$$

then

$$
\begin{equation*}
\exp \left(\frac{-w x}{1-w}\right)(1-w)^{-(1+\alpha)} G\left(x(1-w)^{-1}, u, v w(1-w)^{-2}\right)=\sum_{n=0}^{\infty} w^{n} \sigma_{n}(x, u, v) \tag{18}
\end{equation*}
$$

where

$$
\sigma_{n}(x, u, v)=\sum_{p=0}^{n} a_{p}\binom{n}{p} L_{n}^{(\alpha+p)}(x) g_{p}(u) v^{p}
$$

which is found derived in [17].

### 3.3 Application-3

Now we take

$$
p_{n}^{(\alpha+n)}(x)=C_{n}^{(\lambda+n)}(x) \text { with } \alpha=\lambda .
$$

From (16), we see that

$$
R=\left(x^{2}-1\right) y^{-1} z \frac{\partial}{\partial x}+2 x z \frac{\partial}{\partial y}+3 x y^{-1} z^{2} \frac{\partial}{\partial z}
$$

such that

$$
\begin{equation*}
R\left(C_{n}^{(\lambda+n)}(x) y^{\lambda} z^{n}\right)=(n+1) C_{n+1}^{(\lambda+n)}(x) y^{\lambda-1} z^{n+1} \tag{19}
\end{equation*}
$$

and

$$
\begin{align*}
& e^{w R} f(x, y, z)= \\
& \quad f\left(\frac{x y-w z}{\left(w z^{2}-2 w x y z+y^{2}\right)^{\frac{1}{2}}}, \frac{y^{3}}{\left(w z^{2}-2 w x y z+y^{2}\right)}, \frac{y^{3} z}{\left(w z^{2}-2 w x y z+y^{2}\right)^{\frac{3}{2}}}\right) . \tag{20}
\end{align*}
$$

So by comparing (3.11), (3.12) with (2.4), (2.5), we get

$$
\begin{gathered}
\rho_{n}=(n+1), \Omega(x, y, z, w)=1, g(x, y, z, w)=\frac{x y-w z}{\left(w z^{2}-2 w x y z+y^{2}\right)^{\frac{1}{2}}}, \\
h(x, y, z, w)=\frac{y^{3}}{\left(w z^{2}-2 w x y z+y^{2}\right)}, \quad k(x, y, z, w)=\frac{y^{3} z}{\left(w z^{2}-2 w x y z+y^{2}\right)^{\frac{3}{2}}} .
\end{gathered}
$$

Then by the application of our Theorem 1, we get the following result on bilateral generating relations involving Gegenbauer polynomials.

Theorem 5: If

$$
\begin{equation*}
G(x, u, w)=\sum_{n=0}^{\infty} a_{n} C_{n}^{(\lambda+n)}(x) g_{n}(u) w^{n} \tag{21}
\end{equation*}
$$

then

$$
\begin{equation*}
(w-2 w x+1)^{-\lambda} G\left(\frac{x-w}{(w-2 w x+1)^{\frac{1}{2}}}, u, \frac{w v}{(w-2 w x+1)^{\frac{3}{2}}}\right)=\sum_{n=0}^{\infty} w^{n} \sigma_{n}(x, u, v), \tag{22}
\end{equation*}
$$

where

$$
\sigma_{n}(x, u, v)=\sum_{m=0}^{n} a_{m}\binom{n}{m} C_{n}^{(\lambda+m)}(x) g_{m}(u) v^{m}
$$

### 3.4 Application-4

Now we take

$$
p_{n}^{(\alpha+n)}(x)={ }_{2} F_{1}(-n, \beta ; \alpha+n ; x) .
$$

Then considering the following partial differential operator $R$ :

$$
R=(1-x) x y^{-1} z \frac{\partial}{\partial x}+z \frac{\partial}{\partial y}+2 y^{-1} z^{2} \frac{\partial}{\partial z}-\beta x y^{-1} z
$$

such that

$$
\begin{equation*}
R\left({ }_{2} F_{1}(-n, \beta ; \alpha+n ; x) y^{\alpha} z^{n}\right)=(2 n+\alpha){ }_{2} F_{1}(-(n+1), \beta ; \alpha+n ; x) y^{\alpha-1} z^{n+1} \tag{23}
\end{equation*}
$$

and

$$
\begin{align*}
& \quad e^{w R} f(x, y, z)=\left(1-w y^{-1} z\right)^{\beta}\left\{1-(1-x) w y^{-1} z\right\}^{-\beta} \\
& \times f\left(\frac{x}{1-(1-x) w y^{-1} z}, \frac{y}{\left(1-w y^{-1} z\right)}, \frac{z}{\left(1-w y^{-1} z\right)^{2}}\right) . \tag{24}
\end{align*}
$$

Comparing (3.15), (3.16) with (2.4), (2.5), we get

$$
\begin{gathered}
\rho_{n}=(2 n+\alpha), \Omega(x, y, z, w)=\frac{\left(1-w y^{-1} z\right)^{\beta}}{\left\{1-(1-x) w y^{-1} z\right\}^{\beta}}, g(x, y, z, w)=\frac{x}{1-(1-x) w y^{-1} z}, \\
h(x, y, z, w)=\frac{y}{\left(1-w y^{-1} z\right)}, \quad k(x, y, z, w)=\frac{z}{\left(1-w y^{-1} z\right)^{2}} .
\end{gathered}
$$

So by the application of our Theorem 1, we at once get the following result on bilateral generating relations involving Hypergeometric polynomials.

Theorem 6: If

$$
\begin{equation*}
G(x, u, w)=\sum_{n=0}^{\infty} a_{n}{ }_{2} F_{1}(-n, \beta ; \alpha+n ; x) g_{n}(u) w^{n} \tag{25}
\end{equation*}
$$

then

$$
\begin{equation*}
(1-w)^{\beta-\alpha}\{1-(1-x) w\}^{-\beta} G\left(\frac{x}{(1-w(1-x))}, u, \frac{w v}{(1-w)^{2}}\right)=\sum_{n=0}^{\infty} w^{n} \sigma_{n}(x, u, v) \tag{26}
\end{equation*}
$$

where

$$
\sigma_{n}(x, u, v)=\sum_{k=0}^{n} a_{k}\binom{n+\alpha+k-1}{2 k+\alpha-1} \quad{ }_{2} F_{1}(-n, \beta ; \alpha+k ; x) g_{k}(u) v^{k}
$$

### 3.5 Application-5

Finally we take

$$
p_{n}^{(\alpha+n)}(x)=Y_{n}^{\alpha+n}(x ; k)
$$

k is a non-zero positive integer. Then from [17], we see that

$$
R=x y^{-1} z \frac{\partial}{\partial x}+z \frac{\partial}{\partial y}+(k+1) y^{-1} z^{2} \frac{\partial}{\partial z}+(1-x) y^{-1} z
$$

such that

$$
\begin{equation*}
R\left(Y_{n}^{\alpha+n}(x ; k) y^{\alpha} z^{n}\right)=k(n+1) Y_{n+1}^{\alpha+n}(x ; k) y^{\alpha-1} z^{n+1} \tag{27}
\end{equation*}
$$

and

$$
\begin{align*}
& e^{w R} f(x, y, z)=\left(1-k w y^{-1} z\right)^{-\frac{1}{k}} \exp \left[x\left\{1-\left(1-k w y^{-1} z\right)^{-\frac{1}{k}}\right\}\right] \\
& \times f\left(x\left(1-k w y^{-1} z\right)^{-\frac{1}{k}}, y\left(1-k w y^{-1} z\right)^{-\frac{1}{k}}, z\left(1-k w y^{-1} z\right)^{-\frac{k+1}{k}}\right) \tag{28}
\end{align*}
$$

Comparing (3.19), (3.20) with (2.4), (2.5), we get

$$
\begin{gathered}
\rho_{n}=k(n+1), \Omega(x, y, z, w)=\left(1-k w y^{-1} z\right)^{-\frac{1}{k}} \exp \left[x\left\{1-\left(1-k w y^{-1} z\right)^{-\frac{1}{k}}\right\}\right] \\
g(x, y, z, w)=x\left(1-k w y^{-1} z\right)^{-\frac{1}{k}}, h(x, y, z, w)=y\left(1-k w y^{-1} z\right)^{-\frac{1}{k}} \\
k(x, y, z, w)=z\left(1-k w y^{-1} z\right)^{-\frac{k+1}{k}}
\end{gathered}
$$

So by the application of our Theorem 1, we get the following result on bilateral generating relations involving Konhauser biorthogonal polynomials suggested by the Laguerre polynomials.

Theorem 7: If

$$
\begin{equation*}
G(x, u, w)=\sum_{n=0}^{\infty} a_{n} Y_{n}^{\alpha+n}(x ; k) g_{n}(u) w^{n} \tag{29}
\end{equation*}
$$

then
$(1-k w)^{-\frac{(1+\alpha)}{k}} \exp \left[x\left\{1-(1-k w)^{-\frac{1}{k}}\right\}\right] G\left(\frac{x}{(1-k w)^{\frac{1}{k}}}, u, \frac{w v}{(1-k w)^{\frac{k+1}{k}}}\right)=\sum_{n=0}^{\infty} w^{n} \sigma_{n}(x, u, v)$,
where

$$
\sigma_{n}(x, u, v)=\sum_{m=0}^{n} a_{m}\binom{n}{m} k^{n-m} Y_{n}^{\alpha+m}(x ; k) g_{m}(u) v^{m}
$$

which is found derived in [17].
Corollary 2: On putting $k=1$ in Theorem 7 we get the Theorem 4 .

## 4 Conclusion

From the above discussion, it is clear that one may apply Theorem 1 in the case of other polynomials and functions existing in the field of special functions subject to the condition of construction of one parameter continuous transformations group for the said special function(s). Furthermore, the importance of the above theorems (2-7) lies in the fact that whenever one knows a bilateral generating function of the form (3.3,3.7 etc.) then the corresponding mixed trilateral generating function can at once be written down from (3.4,3.8 etc.). So one can get a large number of mixed trilateral generating functions by attributing different suitable values to $a_{n}$ in ( 3.3,3.7 etc.).

## References

[1] J.P. Singhal, H.M. Srivastava, A class of bilateral generating functions for certain classical polynomials, Pacific J. Math. 42 (1972) 355-362.
[2] S.K. Chatterjea, Unification of a class of bilateral generating relations for certain special functions, Bull.Cal. Math. Soc. 67 (1975) 115-127.
[3] D.K. Basu, On the unification of a class of bilateral generating relations for special functions, Math. Balk., 6(1976), 21-29.
[4] A.K. Chongdar, On a class of bilateral generating functions for certain special functions, Proc. Indian Acad. Sci.(Math.Sci.), 95(2) (1986), 133-140.
[5] A.K. Chongdar, : On the unification of a class of bilateral generating functions for certain special functions, TamkangJ.Math. 18(1987), 53-59.
[6] A.K. Chongdar, A general theorem on the Unification of a class of bilateral generating functions for certain special functions, Bull. Cal .Math.Soc., 81 (1989), 46-53.
[7] A.K. Chongdar, S.K. Pan, On a class of bilateral generating functions, Simon Stevin, 66 (1992), 207-220.
[8] A.K. Chongdar, M.C. Mukherjee, On the unification of trilateral generating functions for certain special functions, TamkangJ.Math., 19(3) (1988), 41-48.
[9] R. Sharma, A.K. Chongdar, Unification of a class of trilateral generating functions, Bull. Cal. Math. Soc., 83 (1991) ,481-490.
[10] A.K. Chongdar, M.C. Mukherjee, Unification of a class of trilateral generating functions, Caribb. J. Math., Comput. Sci., 3(1-2) (1993), 45-52.
[11] A.K. Chongdar, On the unification of a class of trilateral generating relations, Rev. Acad. Canar.Cienc., VI (Num-1) (1994), 91-104.
[12] N.K. Majumdar, On the unification of a class of trilateral generating functions for certain special functions, Indian Jour. Math. 39(2) (1997), 165-176.
[13] A.K. Chongdar, B.K. Sen, Group-theoretic method of obtaining a class of mixed trilateral generating relations for certain special functions, Rev. Acad.Canar.Ciencia., XVII (1-2), (2005), 71-87.
[14] P. K. Maity, On mixed trilateral generating functions, Bull. Cal. Math. Soc.,99(1)(2007) 21-26.
[15] S. Alam, A.K. Chongdar, An extension of a result on the unification of a class of mixed trilateral generating relations for certain special functions, J.Tech, XXXX (2008), 31-44.
[16] B. Ghosh, Some generating functions of modified Gegenbauerpolynomials, Proc. Indian Acad. Sci.(Math.Sci.),96(2) (1987), 119-124.
[17] K.P. Samanta, A.K. Chongdar, Some generating functions of biorthogonal polynomials suggested by the Laguerre polynomials, accepted in Ultra Scientist, vol. 25(2), (2013),269-274.

